Proofs of Formulas for Differentiating Exponential Functions

We will prove that the derivative of 
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.  To do this we will engage in a two step process.  In Part 1 we will prove that the derivative of 
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.  Then, with that knowledge we will use implicit differentiation in Part 2 to show that the derivative of 
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.  Then, as a special bonus
 in Part 3, we will take that information and show that the derivative of 
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	Recall the following properties of logarithms for the proofs
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  (for example, 
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	Part 1→RTP:  
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Proof:
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Now, let
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*   *   *   *   *   *   *   *   *   *   *   *   *   *
Part 2→RTP:  
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Proof:
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Part 3→RTP: 
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Proof:
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analyze 
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� Because you’re worth it!  (
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